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20 100 | 150 | 200 | 250 | % 20 40 60 100 | 150 | 250 | 300 | 500 | % &5t

1 |[BAMTHE of 5 5 5
2 [ZAT1TEA of 3 3 3
3 |#E12TH of 5 5 5
4 #RET3T B = K K I 0 0
5 |KHET1TH 5 5118 18] 23
6 |XET2TH of 18 16| 16
7 |KEBI3TH of 16 16| 16
8 [FafT1-2TH 1 2 3| 10 0] 13
9 |FEET3TH of 31 31 31
10 [JERTITH of 10 10] 10
11 [ABET2T H of o 3 3 6 6
12 [RERT3T B of 10 10] 10
13 |FEMTHE of 14 14] 14
14 |&HATI TR of s 3 3
15 |§TAT2 T H of 4 4 4
16 |ETRTST B of 13 13] 13
17 |HA1TH of 12 12| 12
18 |BRET3TH o 11 11 11
19 [KRET1TH 3 3l 9 9] 12
20 [XET2TH ol 3 3 3
21 |RET3TH 3 3| 12 12| 15
22 |XET4TH o 36 36| 36
23 |RET5TH o 40 40| 40
24 |EBT1TH 4 4 9 9] 13
25 |EE2TEE of 9 5 14| 14
26 |EET2TEE of s 3 3
27 |EET2TEIL of 4 4 4
28 |=HI3 of 21 21| 21
29 [EEI3TEE of 12 12l 12
30 |=RI5TH of 2 2 2
31 |[EET1-28 of s 6 6
32 |[EET17 of 8 8 8
33 |EET27 of 21 21| 21
34 [ERT200 of 1 4 5 5
35 [SRATRE 1l 3 4 9 9] 13
36 |SRET1RE 4 7\ 1 5
37 |#RET1E 3] 4 8 15| 8 8| 23
38 [RAT2-34k of 6 6 6
39 [HHTEE 4 4 4 4 8
40 |FRHETEE2 4 4 6 6] 10
41 |PHETEES of 5 5 5
42 |RETEE4 5 5| 4 4 9
43 |FHHETEES 4 4 8 8l 12
44 |HETEEG of 6 6 6
45 | BTERAT of 2 2 2
46 | HT2 10 10 s 5] 15
47 |RHE13 of 10 0] 10
48 | % HT5 10 10 13 1 14| 24
49 |HET6 of 13 13 13
50 | A AHET of s 2 7 7
51 |RET1TH of 16 16| 16
52 |SRETE4 of o 9 9
53 |RETHUE of 2 2 2
54 |RET2TH of 18 18] 18
55 [FET1TH of 7 7 7
56 |FET2TH of 14 14| 14
57 |FEET1-2T B of 16 16| 16
58 [FEET2TEHER of s 8 8
59 |FERT2 T of 7 7 7
60 [FEET3TEHER of 2 2 2
61 [FERT3TE of 7 7 7
62 |FERT4T B of 2 2 2
63 |FRET4T H of 17 17] 17
64 |SRET5 T H2 of 8 7 15 15
65 |FTAT4 T B 1 of 7 7 7
66 |FET4T B2 of 12 12| 12
67 |#ET5T B of 13 13 13
68 |NERT4T H of 28 28| 28
69 | FMEHT of 4 4 4
70 |EETEE2 of 15 15 15
71 |EETE3 of 15 15 15
72 |Bos2 FaLEE of 7 17
73 |[HOHE 103 of 12 12 12
74 [BOH3 of 12 12l 12
75 [P g2 21 of s 8 8
76 [HHERS of 19 19] 19
77 |dLETBAILAT of 13 13| 13
78 [EH3tEEME of 2 2 2
79 |BEA1BTAS of 15 15 15
80 [TIR{ERS of 1 1
81 |HDHARELRFR of 11 11 11
82 |[EE#IIEEMES 5 21 26 0 26
83 |BEIERE of 3 3 3
84 |RET3TH of 4 4 4
85 [EE532 of 7 7 7
86 |EEER3HE of 1 1 1
B 11] 30| 42| 21] o 104f 819] o] 7| 10l o 10l 3] o] s49] 953
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